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Restar decimales Nombre:
Resuelve cada problema. Respuestas
1) 33.6 2 61.0 3 91 X
+ 8.65 +19.20 -60.365 '
2,
3,
4.
4y 21 5 75 6 78
+12.6 +38.541 .57.11 >
6.
7.
8.
N 61 8 85 9 72
9,
+ 6.6 +12.6 + 59.840
10.
11.
12.
10) 32 11) 20 12) 37
13.
-16.95 + 2.1 -26.1
14.
15.
13) 51.2 14)  47.57 19 14
-24.54 -21.226 - 1.12
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Restar decimales Nombre: Clave De Respuestas
Resuelve cada problema. Respuestas
1) 2) 3)
33.60 61.00 91.000 . 42 5
+ 8.65 +19.20 -60.365
42.25 80.20 30.635 2. 80.20
3 30.635
4 53.6
4 5 6
) 41.0 ) 75.000 ) 78.00 . 113541
+12.6 +38.541 -57.11
53.6 113.541 20.89 6 20.89
- 67.6
8 97.6
7 8 9
) 61.0 )  85.0 ) 72.000 . 131840
+ 6.6 +12.6 +59.840
67.6 97.6 131.840 0. 15.05
11 22.1
1 10.9
10 11 12
) 32.00 ) 20.0 ) 37.0 s 26.66
-16.95 + 2.1 -26.1
15.05 22.1 10.9 u  26.344
15, 12.88
13 51 20 14)  47.570 15 14.00
-24.54 -21.226 - 1.12
26.66 26.344 12.88
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Restar decimales Nombre:
Resuelve cada problema. Respuestas
53.6 20.89 131.840 80.20
97.6 30.635 10.9 22.1 1.
113.541 67.6 42.25 15.05
2
) 33.6 2 61.0 3 91
+ 8.65 +19.20 -60.365 3
4,
5.
6.
9 41 5 75 6 78 7
+12.6 + 38.541 -57.11
- - 8.
0.
10.
11.
N 61 8 85 9 72
+ 6.6 +12.6 +59.840 12
10) 32 11) 20 12) 37
-16.95 + 2.1 -26.1
" M odificado 1-10 | 9283 75|67 [58[50] 4233|2517 |
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